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Division
WALT: divide using the gate method.
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| 48+2-=
2. 69+3=
3 88+4=
L 65+5=
5 51+3=
6. 396 +3=
7 8% +2-=
8 484 +i4=
9 560+5-=
753 +3=
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| 84 +4=

2. 63+3=
3 5+5=
b 96 + 4 =
5, 84+6=
6. 7105+5=
1 966+ 6=
8 896+ 4=
9 186+6=
10. 798 + 7 =
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l 84 +4=

2. 96+6-=
3 9B+T=
L 89+9=
5 968 +8-=
6. 763 +7-=
1 564 +6=
8 984 +8-=
9 T84 =7 =
0. 738+9-=

X NP Ye NP N Ne N Ne N Np Np N Xp X Ne N Np Xp X Xp X Ne X NP X Np Xp X Xp X Xe X NP e N X Xe X X Xe X Ne X N X X X X Xp X NP X NP X X N Ne XN N X X X X %
Yo %P Y NP X Ne NP Np X Np Xp N NP X Np P Np Xp X Xp X Xe X NP 0P NP Xp X Xp X Xe X NP 0P NP X X Xp X Xp X Xp 0 NP Np Xp X Xp X Xe X NP P N X Xe X X X X N X N

PRAGAdi AR A A IS A S AR A A A LG AGAG A LS A AR AL S A AL SA A QGG SASA A SASAG A ARG



